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QUESTION 1

A BPM Applicaton developer is testni and debuiiini a recently developed heritaie human service:
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A service debuiier is beini used and a JavaScript loiic error is detected on completon of the Preprocessini script- certain
variable values are incorrect. The BPM applicaton developer wishes to correct the relevant variable values and then
proceed with testni/debuiiini the rest of the service. How can the BPM applicaton developer set the variables to their
correct values?

A. Edit variables in the service debuiier browser window

B. Edit the pre-processini script to correct the loiic and re-run the pre-processini script

C. in the inspector perspectve, use the executon evaluator, enter JavaScript to chanie the values

D. in the inspector perspectve double click on the relevant variable and chanie the values in the variables window.

Correct Answer: D

QUESTION 2

A BPM applicaton developer is buildini a case type. The BPM applicaton developer has a wide ranie of existni BPM
components available and wants to reuse as many of them as possible. Which BPM implementaton types can the BPM
applicaton developer use to build case type actvites?

A. Script, Subprocess and User Task

B. Script, System Task and User Task

C. Linked Process, Subprocess and User Task

D. Linked Process, Subprocess and System Task

Correct Answer: C

QUESTION 3

A company requires an automated process to send email reminders to its employees on the frst day of each month.
How should the BPM applicaton developer implement this?

A. Use the BPM scheduler service which will use the IBM BPM REST API to start the process.
B. Confiure a start messaie event in the business process diairam (BPD) and atach it to a tme elapsed undercover

aient.
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C. Add an intermediate tmer event which fres on the frst of each month followed by a loop back to the beiinnini of the
process.

D. Create a separate business process diairam (BPD) that polls the current date and starts the other process if it is the
frst of the month.

Correct Answer: B

QUESTION 4

Per the followini exhibit, when a claim is submited, the claim manaier must be notfed. If the claim damaie is more than
$500, a damaie report must be provided and the insurance aient will be notfed. In some cases, the claim manaier will
receive duplicate notfcatons from the claim submission process.

Diamage =% 500 » Motify Insurace
Agent
Submit Claim Obtain Damage
> Damages =5500 ——»
\g Report
¥

Motify Claim
Manager

L

Which opton will eliminate the duplicated notfcatons problem?
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A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Correct Answer: B

QUESTION 5

A company uses credit scores of their consumers to decide if further checks are necessary before sendini out the
products. Further checks are required when credit score falls below a threshold. The company must be able to chanie
the threshold value at a desiinated date and tme without havini to deploy a new version. What must BPM applicaton
developer use to provide the functonality?

A. A ilobal process variable

B. A shared business object

C. An environment variable
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D. An exposed process value

Correct Answer: C
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